	
	           Ответы         

Задание
	А


	Б
	В
	Г
	Д

	1. 
	Решите уравнение

      
[image: image1.wmf]0

2

3

5

2

=

-

-

х

х


	2; -1
	
[image: image2.wmf]5

2

;

1

-


	Нет решений
	   
[image: image3.wmf]5

2

;

1

-


	-2;1

	2. 
	Упростите выражение


[image: image4.wmf]в

в

в

а

в

а

а

×

÷

ø

ö

ç

è

æ

-

+

-

2

[image: image5.wmf]
[image: image6.wmf]

 EMBED Equation.3 [image: image7.wmf]
	
[image: image8.wmf]в

а

в

а

-

+

2

2


	          а + в
	
[image: image9.wmf]в

в

а

2

2

+


	     а - в
	
[image: image10.wmf](

)

2

в

а

в

а

-

+



	3. 
	Решите систему уравнений
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	4. 
	Решите неравенство
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	Упростите и найдите значение
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	6. 
	Вычислите
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	7. 
	Упростите
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	8. 
	Решите уравнение
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	9. 
	Решите неравенство
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	10. 
	Решите систему неравенств
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	Нет решений
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